TRI2EE HEEPEIREEAE

FH| B | BB | KT 1TH4 =2 e
T 9:30 16:30 FB1REISGHHEE = (RELLT) O T =T
4 3:00 17:00 51 [RIHI 7 352 (i T I—F
5 H DTV —F
4H 11 + O T)—F
12 H WNEDT ) —F
25 *+ AR A T 138 O TV —F
T5:00 17:00 55200 Mty g A el 1E EITI—F
H  9:30 16:30 52[EIHI7 54 (—i%) OIEINT
6H | 21 | B | 9:30| 16:30 L v i X K2 OEITI—F
5 B 9:30 16:30 FoECITHES o oERTI—F
A 22 | 7K | 9:30| 16:30|H V5 EBHLIX AR AR S aEREE = WENLTI—F
26 | H | 9:30| 16:30 iﬁgi@éig%ﬁ%g%ﬁﬁi% DT V—F
9 H  9:30 16:30 % iy 5 ﬁ#ﬁ%’ujq;_ m
9 | B | 9:30| 16:30] k&R A S (—H) V57 g 0E fE | RSO Y
8H | 18 | k| 9:30| 16:30 Je g Hih - Wi SRS OEITI—F
23 | H | 9:30) 16:30| R G AR —Y RS T3 OEDLTY—F
29 | 1| 9:30| 16:30 5531 SCELEEE 2 (UBLAT) J B 2N ]
9H | 1 | k| 10:00| 12:00 ADVEEES OEITI—F
4 | B | 9:30| 16:30| 30 AERGEE = (FrE-4) NG EwE
10H| 6 | k| 10:00| 16:00| %5 14[E]A DV =38 Ko (607% LA F) OEITI—F
17 | + | 9:30| 16:30|453m1EF = das 3 (L 1) OEINTY—F
1| H | 9:30] 16:30 | H s PR OIENTV—F
11H| 28 | 4| 10:00| 12:00| P EGRFEL 4 OTEITU—F
29 | H | 9:30| 16:30 % K IR TE KRS VST IRE AR
12H] 13 | B | 9:30| 16:30 |3 #ns < OTEITU—F
1H | 17 | B | 9:30) 16:30| 3042 (F-By, At&ERE) OFEDTV—F
6 | t | 9:30) 16:30|FEAFE S HIX K S OTEITU—F
2H 7 | B | 9:30| 16:30|5H4AI SRS & (WELLLT) N R o A
13 | £ | 10:00| 12:00| 3 AFHE#A OEITU—F
20 | £ | 10:00| 12:00|Z#EHF OETY—F
A 9:30| 12:00 3 AR A S ‘
" 13:00) 16:00| 3 F R B S N

EL KEIOITHI

R 7 A A BR OT TR T O,




